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Source: https://www.youtube.com/watch?v=YgilHRgK4oM
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Solution




BRI - 2

PUNZ2HEE AN NAERE  BHERAETE
RERI2%EIERANA - TEEKLEEFER -

(5,3,2) =2 151022 ;
(7, 2,5 =2 ?
(1) 151026 / (2) 143547

(3) I need more examples to get the correct ans
(4) There is no ‘correct’ answer
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Time's UP!
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1. Prisoner hat riddle (IAJERYTE )

https://ed.ted.com/lessons/can-you-solve-the-
prisoner-hat-riddle-alex-gendler

2. Pirate riddle (;83% B )

https://ed.ted.com/lessons/can-you-solve-the-pirate-
riddle-alex-gendler (Nash equilibrium)

3. Rogue Al (RIZERIAI)

ﬂU'

ai- rlddle dan flnkel



https://en.wikipedia.org/wiki/Nash_equilibrium
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- 1A=

__JoiE =X (Binary Search)
ofEERE, SEEEL!

(DIVIDE AND CONQUER)

If searching for 23 in the 10-element array:

2 | 5| 8 [12|16|23|38]|56]| 72|91

- H
23> 16,
omnatr 21 5 | 8 |2 3[38][s6[n2]a

L H

23 < 56,
take 1% half 23 | 38 - 2 ]9 ¢
Found 23, L H % |
Return 5 38 W

source: https://www.geeksforgeeks.org/binary-search/
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Ref. Google for Education: Exploring Computational Thinking
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Solution
H%—KIREIE A
24 x (60/5) = 288 &

STEP 1 : T EF I RERKREZEEE? IRTE - AIRERE
144§EL11§EGH”HEDT QD%KE Rl & 4R 14455818988 | (B5 & #6
B4/ NEL2/NEERE) - Note: [BREEEATE...

STEP 2 . MEF 72:kER KmEEAER? TIXRTE - AIREHRK
73~ 1435’]5”HEDT QD%KE Al Emas 1~ 71§FEUE’JH”H(H—;F§$E@
A/ NE6/NFEE) © Note: RExBAH...

STEP 3 . BEF36RERKRERZEER ? ARE - AIREMRHFR37~71
E’JE”HEDT MRAE - QB RoIE L~ 35§FHUE’JE”H(H—;Feﬁ%ﬁ@iﬁd\ﬁ3
NFE&E) - Note: RERBEAE... I

\
A

STEP 4 : WBEF 1SRRI KBEEFTEE? MRE - Alig ézﬁﬁf%.,
H5R R ENT] - MRAE - AIRESHRSR 1~173RATRIR 7 (5 R 56 e
1L5/\SBR) - Note: BB ALE... =g=1
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ER/NEENERE  EREAPHEIZBE/NEN

& (Minimal spanning tree) - EIREEETHER
EEARIESEE - fW  ERETAHEERE - &

METEMH ~ UEEEMARNSNIEEN - Bk
KBRS  BEIAFHEFNMELE -

FIN - E/NE AR R _Eﬁerﬂlﬁﬁﬁﬁ/\ﬁ’ﬁ'u%_

(Travelling Salesperson Problem, TSP) -




Thank You!



